

Let's eheck out a few more integrals so
that we can see how these "guidelines"
apply.
Ex I. A.
$$\int \sin^{q}(x) dx = \int (\sin^{q}(x))^{2} dx = \int (1-\cos(2x))^{2} dx$$

INFERN
EXTANSE
 $= \frac{1}{4} \int (1-2\cos(2x) + \cos^{q}(2x)) dx = \frac{1}{4} \int (1-2\cos(2x) + \cos^{q}(2x)) dx = \frac{1}{4} \int (1-2\cos(2x) + \frac{1+\cos(4x)}{2}) dx = \frac{1}{4} \int (1-2\cos(4x) + \frac{1+\cos$

$$\sum_{i=1}^{i} \int \cos^{5}(x) \sin^{3}(x) dx = \int \cos^{5}(x) \cdot \sin^{2}(x) \sin(x) dx$$

$$= \int \cos^{5}(x) \cdot (1 - \cos^{2}(x)) \cdot \sin(x) dx$$

$$= \int w^{5} (1 - w^{2}) \cdot \sin(x) \frac{dw}{-\sin(x)}$$

$$= -\int w^{5} (1 - w^{2}) dw = -\int w^{5} - w^{3} dw$$

$$= -\int w^{5} (1 - w^{2}) dw = -\int w^{5} - w^{3} dw$$

$$= -\int w^{6} + \frac{w^{8}}{8} + C$$

$$= \int \frac{1}{\sqrt{6}} - \frac{\cos^{6}(x)}{6} + \frac{\cos^{8}(x)}{8} + C$$